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ADDING & SUBTRACTING RATIONAL EXPRESSIONS PRACTICE

x—4 5x 5x-3 1
=+ 26. -=
3 3 4x 6x
2x+5 X 27 7 4
7 7 " 3x  5x2
8 x+9 5
-+ — 28. =+ 8
X X x
3x—8 = —x+8 4
29. 7——
4x 4x x=9
3x—6 n 3x+6 30 x—-1  x%+4x-4
24x  24x " x-2  x2+4x-12
2x+3 _ x—3 31 x+2  x%45x+14
X+5  x+5 " x—6 x2-2x-24
2x+3 x=7 2
— xX+2 x“+4x+13
x+4 x+4 32, — - —_—— -
x=7  x%2—-4x-21
8 4
33 x—4 x—1
3(x+8 3(x+8 .
( ) ( ) x2+45x+6  x%2-4
3 4 34 x—4 x—1
2(x=9) = 2(x-9) T x2+4x+3  x2-9
7 5 35 x—4 x+3
3(x—1)  3(x—-1) T x24+3x4+2  x2-4
4x+7 x—6 36 x—2 x—1
x+5 xX+5 ) x2-2x-8 x2-4
-2x+1 —-3x—-1 37 xX+5 + xX+2
x2—4 x2—4 T ox243x-4  x2-1
5x+1 4x—-7 38 x+1 x—4
x2—-64 x2-64 T x24+6x+9  x2-9
2x%+7x-3  2x%+6x-1 39 3x=1  x+4
x2+4x-12  x2+4x-12 x2+42x-3  x2-9
3x—4 3—-2x 40 3x—2 _ x—-3
x2-5x+4 x2-5x+4 " x2+2x-24 x2-16
5x—4 5—4x 41 2 -2
x2—-6x-7  x%2-6x-7 " x2-5x+4  x2-4
3x—-8 2x—5 42 3 -3
x2-9  x2-9 " XZ-7x+6 | x2-9
4x—-7 3x—-2 43 3 + X _ 2
x2-25  x2%2-25 ) x+2 x%2-4
2412 44, 2+ -2
3x  x ) x-3 x2-9
6 7 1 x x242
45
x = 5x2 T x+1 x-2  x%2-x-2
3 6 2 x x%+2
S+ 46. — — —
x  7x x+3  x-1 x2+2x-3
f P 4x 3x 4
2 47. —_——
x  6x x2-1  1-x x-1
6 _ 1 48 5x 2x + 3
5x3y  2x2y3 T 1-2x  2x+1  4x2-1
5 7 1 2 1
=+ 49. — — = _
xy 2x X4+5x+6  x“+3x+2 X“—=3x—4
2 4 2

2x + = 50.
y

x2-5x+6  x2-2x—3  X2+4+4x+3



PRACTICE ANSWERS
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